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Chapter 9: Areas & Pythagorean Theorem 
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1. Arc length of 




2.       r = 18 ft. Find the exact 
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3. The circumference is[image: image3.wmf]36

p

cm. 



4. h = 18 cm, a = 39 cm, b = 45 cm
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    Find the exact area.
 




      Find the area. 
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5.  Find the exact lengths of the missing sides.
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6. A regular octagon has area 690 square feet and side length 20 feet. 

Find the exact value of the apothem.   

	7.
	Find the missing variables.

	
	a.
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	b.
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	c.
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	8.
	a.
	An isosceles right triangle has a side length of 6.  What is the hypotenuse? 

	b.
	A triangle has side lengths: 5, 7, 10.  Is the triangle right?
	c. 
	An equilateral triangle has a side length of 5.  What is the height of the triangle? 



	9. 
	An equilateral triangle has a side length of 5.  What is the area? 



	10.
	Find the area of each shaded region to the nearest tenth.  Assume units are in centimeters.
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	11.
	Find the areas.

	
	a.
	Trapezoid
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	b.
	Regular Octagon
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	c.
	The “shaded” Area between a square and a Circle inscribed inside (the circle has a radius of 7).  


Using Your Algebra Skills (UYAS) & Coordinate Proofs: 

MIDPOINT

12. Find the midpoint of the segment with endpoints (6,-7) and (3,-5).

13. Find x and y if the midpoint of a segment is (7, 10) and the endpoints are (x,y) and (-5,6).

14. Find x and y if the midpoint of a segment is (3, -4) and the endpoints are (x,y) and (9,14).

SLOPE, LINE EQUATIONS, PARALLEL/ PERPENDICULAR LINES

Determine the slope of the line that contains the given points.

15. 
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16. 
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Determine whether 
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are parallel, perpendicular, or neither.

17. 
[image: image17.wmf](0,3),(5,7),(6,7),(2,1)

ABMN

----




18. 
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19. What is the slope between (4,5) and (-3,9)? 

20. What is x if the slope between (x,-5) and (-3,4) is 2.

Write an equation for each line described: 

21. 
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22. 
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23. Write an equation for the line  in slope-intercept form: a line parallel to 
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24. Write an equation for the line described. 

A line perpendicular to 
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through (-6,3)
DISTANCE FORMULA 

Find the distance between the points. 

25. 
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26. 
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COORDINATE PROOFS

Triangles: 

27. Find the measures of the sides of 
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 and classify each triangle by its sides. 

a. K (-3, 2), P (2, 1), L (-2, -3)
b. K (5, -3), P (3, 4), L (-1, 1)



28. 
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 has vertices A (2, 3), B (-3, -1), C (4,-9). Prove that 
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 is a midsegment given D is (-1, 1) and E is (3,-3).

29.  Graph the quadrilateral and determine if the figure is a rectangle. Justify your answer.  

J(-6, 3)   K(0,6)   L(2,2)   M (-4,-1)

	30.
	Graph the circle.
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	31.Find the equation of the circle.
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	32. A circle with center (-3, 5) passes through point (-9, -3).  Find the circumference of the circle.  Leave your answer in terms of π.



	
	
	
	


33. Describe the center and radius of the following circles.  
a.    
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   b. 
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Chapter 7: Transformations of Geometric Shapes
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	34.
	Consider 
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	a.
	Translate 
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and label 
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	b.
	Translate 
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	c.
	Give the ordered pair coordinates for the single transformation from
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 that is equivalent to the composition of these two translations.  
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	35.
	Consider The following 
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	a.
	Label the points EFG and Translate 
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 using the a dialation by a factor of 3 and label 
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	b.
	What rule describes this transformation? 
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	c.
	Translate 
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	d.
	Give the ordered pair coordinates for the single transformation from
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 that is equivalent to the composition of these two transformations.
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36. This quadrilateral is reflected about they y-axis.
a) Sketch the reflected object.
b) What is the rule for this transformation?
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37. This quadrilateral is dilated by a factor of 2.
a) Sketch the dilated object.
b) What is the rule for this transformation?
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Chapter 10: Volumes & 3D shapes 
38.  Find the surface area of each solid.  Round your answer to two decimal places.
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c.
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Find the exact volume of the following.
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	42.
	Find the exact volume of each solid.

	
	a.
	[image: image56.emf]

	b.
	[image: image57.emf]

	c.
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	Volume: ________________


	
	Volume: ________________


	
	Volume: ________________



	43.
	Find the volume and surface area of each solid to the nearest tenth.

	
	a.
	[image: image59.emf]

	b.
	[image: image60.emf]

	c.
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	Volume: ________________

Surface Area: ____________


	
	Volume: ________________

Surface Area: ____________


	
	Volume: ________________

Surface Area: ____________



	44.
	a.
	What is the radius of a sphere with volume: 
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	b.
	What is the radius of a cone with volume: 
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Chapter 11: Similar Shapes & Similar Triangles
	45.
	The surface areas of two similar solids are 25 cm2 and 36 cm2.  If the volume of the larger solid is 216 cm3, find the volume of the smaller solid.


	46.
	The volume of two similar solids is 8 ft3 and 

125 ft3.  If the surface area of the smaller solid is 

4 ft2, find the surface area of the larger solid.




Solve for the missing variables.
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50.   What are the shortcuts for similar triangles? 
51.  Find the following ratios for two similar figures.  

a.  If the volume ratio is 
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, find the side ratio. 

b.  If the area ratio is 
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, find the volume ratio.


52. If PR= 5, RS=7, QR=4, what is the measure of TR?  Why are there similar triangles?  
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Chapter 12: Trigonometry

Find the value of the variable to the nearest tenth. 
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55.
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56. Find the area of the triangle.




57.   
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58. A kite flies at an angle of 
[image: image69.wmf]34

o

with the level ground.  You have let out 23 meters of string.  How high is the kite flying?
59. Two trains leave Skyline High school. One is traveling at 66 mph due West.  The other is traveling 40 mph due South.  

a. How far apart will they be after 30 minutes?  

b.How far apart will they be after 1.5 hours?  

60. Sally leans a ladder against a brick wall.  The ladder base is 6 feet away from the bottom of the wall.  The angle that the ladder makes with the ground is 33 degrees.  

a. How long is the ladder?  

b. How far up the wall is the ladder?   

Probability
61. Geologists conclude that there is a 62% probability of a large magnitude earthquake striking the San Francisco Bay region before 2032, and a 17% probability of a large magnitude earthquake striking the Seattle area before 2032.  

A. Sketch a tree diagram that gives all possible outcomes.

B. What is the probability that both earthquakes happen?
C. What is the probability that only 1 earth quake happens?
D. What is the probability that neither earthquake happens?
E. Given that one of the earthquakes happens, what is the probability that it will occur in San Francisco?

62.  A math class is composed of 34 students
.

a) How many different general groups of 4 students can be made in this class?

b) If each group has a specific Editor, Recorder, Timekeeper, and Spokesperson, how many possible groups can be made?

63.  In a recent survey of 100 Skyline orchestra students, 35 students liked Mozart, 75 students liked Bach, and    19 students liked both.
a) Sketch a complete Venn diagram of this problem.

b) What is the probability that a student likes Mozart, given that they like Bach?

c) What is the probability that a student likes neither Mozart or Bach?

d) Who is better: Mozart or Bach?
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